EARAROBEEIERT — 2 N— IBISH —F

2018565240 (H) 3EIF=8H

R R A S e A

EZS

=

‘ [EERRE] — | 4 (&) 21000 FR

[A®4] 1 % :5,000,000 @ ~ 2 7% :2,000,000 M

/33 11,300,000 @ 4 3% :750,000 @ 5 & :500,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
3 | AFHEIR 2:11.9 2-3-3-3 [36.3| 87.7 | 4 500 | FBA=— (i)
1Bl 3| 2x/%% [B] 56.0 [ ) (I
R4 7 bT—IVEY B4 v HE77—»4L
3 [ # 3 | ALNEF 2:11.9 1-1-1-1 | 36.4| 87.6 | 2 492 | AHTEH ()
2011 |¥a—->#HI7— [B] 56.0 (7¥) 6 | B FrBybTr—L
LANT =TI BRINTFARE—Y J—HrIr—L
= 4 3 | WEEE 2:12.4 12-12-10-9 | 36.3 | 82.9 | 5 510 | FEEE (5
37|11 =77V —0 [B] 56.0 ) (6) | TESHEZHA—LF 1> TZ ()
xR THAANAN BiIZy T TI—"7 J=HrTrp—L
S LSS AIEEH : -5-5- F=— (EH)
4l5lg|1x/7rEY LR i 3 Rl 2.(132).9 4-5-5-5 | 37.1| 75.8 | 14 fze) e
R:gALINT Ry X B:ax/LAa BE s
o= 3 | #KEHE 2:13.0 4-3-3-5 |37.2| 742 | 8 474 | ERER (EH)
5|57 E7—% 550 (7€) (o) |BFEAF-LF2TZ ()
L:vA7% B:FqFo— J—HrTr—LA
N g 4 3 | HUHE 2:13.0 9-9-7-8 |37.1] 75.1 | 3 492 | EfER (EE)
67|12 F—N=—N>T 56.0 (NF) © (B) #HBL—Z%K—Z
X THANAN BRF 75 HET7— L
N LERAH : —8-7- BAE (E#)
7 NECELL R [B] i 3 o 2.(1233.3 7-8-7-5 | 37.5| 69.4 | 10 <4+722) =
L=5—=29 7 BIA Y F—HR% FERSE
H 3 | SHERK 2:13.5 2-2-2-2 | 38.0| 65.0 | 1 506 | NI (3£H)
8 9| Y b/ AP L 56.0 (1 1/4) 42) | R H IR H N
L:ANTT—JI B:E2T7FzaL-—F FRBE%S
i 4t 3 | IARS 2:13.8 1-11-12-12| 37.2 | 69.0 | 13 | 480 |XEFFF—BR (i)
o2 T73n7aA 56.0 (1 3/4) o | ABX
R:Er/snJoq4 B:nN—-Uh SRR
S 43 | AEHT 2:14.0 12-13-12-12| 37.5 | 65.0 | 12 | 432 |RH#=E (Xik)
10 4| B>H—IL 56.0 (1 1/4) (o) | EBEES
R:7—9T7x—Z B:HLIXTOY b HET7— L
“ B 3 | BEEET 2:14.1 6-6-7-9 |38.0| 60.0 | 6 450 | SEEBA (EiH)
" 10 TAY=LTI 54.0 (3/4) © %m%;
R:AAagyLvy B:HYc—TJ7r14 71 Iil52 e ]
SRS 4 3 | AlllEkA 2:14.3 7-7-5-4 | 38.6| 58.6 | 9 464 | HRIRER (i)
12/ 8 |14 —*\’QJT’7L\/-\" 56.0 1) -8) P ETS
RIVINATrA—h— BAF/¥Tay ity FESA
. S 4t 3 | BRBE 2:14.7 9-10-10-9 | 38.6 | 55.2 | 11 466 | FIEHSN (EH)
13 6| FTINTFY— 56.0 2 1/2) (+4) |1BBE
RTANNTTFH— B:x3IfvEF HHS
> 3 | WHEHEL 2:16.6 14-14-14-14|37.9 | 45.2 | 7 520 | 2EHB (F#)
14/8(13 *IVED A93.0 (214) © |@EE
RiZa—A2F52F B:iIYENLE— B 8Ll
@ 21 L
£y 48.9-36.4
NA> R4 L | 7.3-11.6-12.3-12.6-13.0-13.3-12.9-12.5-12.2-11.9-12.3
® I—F—@EBIERL
|S=7r= 1(3,9) (7,8)10(5,14)-(6,12)2(4,11)-13
23=7F= (x1,9) (7,3)8-10,14,5-12,6-2,11,4=13
33—+ — 1,9(7,3) (8,14) (10,5,12) (6,11)-(4,2)=13
43—+ — (x1,9)3,14(7,8,5)12(10,6,11)-(4,2)=13
[ N5
B R 3 910M | | 71 K 1-3 7200 | | B = 1-3 2,230M | | 3:E& 1-3-11 7,070M
% B 3 370M 3-11 1,060 | | /5 &= 1-3 2,520 | | 3EE 3-1-11 48,180M
1 260M 1-11 1,040H B H 3-1 6,290M
1" 530M

ABICOVWTRDTEEERROODE. TR LIV,




